1. priklad
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t = 259 dnů , vx = 0,091
arit.průměr pro soubor 0 až 12 = 284.5/12 =23,71
rozptyl σ2 = 1/nxi – xpr.)2= (3803,68/12)0,5
σL= 17,8
2DL = 17,8/259 = 0,07
DL = 0,035 m2/den
= DL/vx = 0,035/0,091 = 0,38 m

L = 0,83.(log23,71)2,414 = 1,78 m
2. priklad
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Hodnoty viz obr., vx = 0,008, odečtu z krivky t50 = 37370, t84 = 37600, t16 = 37000
σt = (t84 – t16)/2 = 37600-37000/2 = 300
DL = (vx2. σt2)/(2.t50) = (0,0082.3002)/2.37370 = 5,76/74740 = 7,71.10-5 m/den
L = DL / vx = 7,71.10-5/0,008 = 0,0096 m






